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PART A: LISTENING
I. Listen and tick true (T) or false (F) to the statement:
	Statements
	True
	False

	1. Mr Lam says we use energy for cooking, heating and lighting.
	
	

	2. Linh always turns off the lights when going out.
	
	

	3. Ling turns off electrical appliances when not using them.
	
	

	4. Minh uses low energy lights bulbs at his house.
	
	

	5. Minh uses solar energy to cooks meals.
	
	


II. Listen to the passage and choose the correct answer: A, B or C 
1. Sao Paulo in Brazil has ___________________.
     A. a large population              B. good records                   C. the worst traffic jams.           
2. Big cities often suffer from traffic jams _______________.
     A. in the evening                    B. every day                        C. in the rush hour
3. The main cause of the problem is __________________.
     A. poor-quality roads             B. narrow roads                   C. increase in population
4. The number of people ________________ has risen several times.
     A. using te roads                 B. going roads                     C. used the roads
PART B: LANGUAGE FOCUS 

I. Choose the best answer A, B, C or D to complete the sentences:
1. Choose the word whose underline part is pronounced differently from the rest. Circle A, B, C or D to indicate your answer.
	A. careful
	B. patient
	C. parade
	D. celebrate


2. Choose the word whose underline part is pronounced differently from the rest. Circle A, B, C or D to indicate your answer.
	A. feature
	B. clear
	C. appear
	D. hear 


3. Mary overslept this morning …………. she went to bed early last night.
	A. so
	B. because
	C. However
	D. Although


4. Auckland is……………… biggest city on the north island of New Zealand
	A. a
	B. the
	C. an
	D. to


5. The film was so …………… that the audience couldn’t stop laughing 
	A. funny
	B. boring
	C. frightening
	D. moving


6. When energy comes from the sun, we call it ....................
	A. solar energy
	B. wind energy
	C. hydro energy
	D. petrol


7. How about going to the cinema tonight?
	A. Yes, I do
	B. No, we don’t
	C. That’s a good idea
	D. Yes, we think


II. Supply the correct tense or form of the verb in parentheses: 
1. At present, we (do)……………………. a big project on how to save energy. 
2. We (use)…………………more renewable energy in the future.
3. When we were small, my mother (take)………………….us to school.
4. ………….. they (eat)………….. moon cake at the festival last year?
PART C:  READING 

I. Read the following passage and choose the best answer A,B,C or D.
A traffic sign is a sign put at the (1) ………………. of or above roads to give instruction or provide information to road users. A traffic sign gives information by means of a symbol, or in only 1 or 2 words. Some signs include: stop, no left turn, hospital ahead, no parking, speed limit, one way, and much more.

Traffic signs are divided into (2) …………………. basic categories: warning, prohibition, and information signs. A sign within a red triangle will warn you of something. Signs with red circles are mostly (3) ………………. Signs in blue are usually to give directions.

Signs are very useful. Without signs and traffic lights there would be many (4) ……………… and arguments on the road. Everyone on the road, regardless of whether you are a pedestrian or a driver, needs to know the meaning of each specific sign and (5) ……………….  the sign.

	1. A. side
	B. end
	C. center
	D. beginning

	2. A. five
	B. four
	C. three
	D. tow

	3. A. prohibited
	B. prohibition
	C. prohibiting
	D. prohibitive

	4. A. users
	B. accidents
	C. vehicles
	D. jams

	5. A. obey
	B. see
	C. pass
	D. cross


II. Read the following passage and do the tasks below:
Visit the Edinburgh Festival
Every year, thousands of people come to Edinburgh, the capital city of Scotland, to be part of the Edinburgh Festival. For three weeks every August and September the city is filled with actors and artists from all over the world. They come to Edinburgh for the biggest arts festival in Britain. During this time, the streets of the city are alive with music and dance from early in the morning until late at night. You can even see artists painting pictures on the streets.

Tens of thousands of tourists come to the festival to see new films and plays and to hear music played by famous musicians. This year, you can see over five hundred performances with actors from more than forty countries.

The tickets for these performances are quite cheap, and it is usually easier to see your favorite star in Edinburgh than it is in London. So come to Edinburgh next summer!

A. Choose the best answer A,B,C or D.
1. Edinburgh is the capital city of …………………
	A. England
	B. Scotland
	C. Ireland
	D. Wales


2. The Edinburgh Festival happen ………………….
	A. every three weeks
	B. every August
	C. every September
	D. every year


B.  Answer the questions:
1. What is the Edinburgh Festival?
……………………… ……………………………………………………………………….
2. Why do thousands of tourists come to the festival?
……………………………………………………………………………………………….
3. Are the tickets for these performances inexpensive?
……………………………………………………………………………………………….
PART D: WRITING
I. Complete the second sentence so that it means the same as the sentence before:
1. We are not sure if our city will have a sky-train system in the near future.
Our city might………………………………………………………………………………
2. Let’s go to the cinema tonight.
What about ………………………………………………………………………………?
3. The distance between Vinh City and Ha Tinh City is about 50 km.
It……………………………………………………………………………………………
4. She is so young, but she always gives an excellent performance.
Although...…………………………………………………………………………………
5. I spend 30 minutes travelling to school by bicycle every morning.   
It takes me………………………………………………………………… ………………
6. Resorts by the sea are still expensive. Not many people go there for their holiday next year.
If ………………… …………………… …………………… ……………………………
II. Write a paragraph about 70 - 80 words about one means of transport we will use in the future.
You should use the following cues:

· What it is

· How it looks

· What can it do

· Why it will be used in the future
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